EARAROBEEIERT — 2 N— IBISH —F

2017878158 (4) 4mEER4H

m C2+—# H+>%—#% ‘ X ‘ (EmmEl - | & (&) 12000 &
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
B\ BB mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
v . - — EHF] P
115l5| *1>avrs/nr 6 ;Jggfgl_% 1.(1_4).3 1-1 37.9 3 | 403 i?ﬁ;\ OKiR)
R:F1T28N B aLYANY—Y =1 Y574
3 # 4 | KIE 1:14.4 2-1 37.9| — 1 447 | ERFD (BERE)
2 6| L7ITILEK 54.0 (1/2) (-p) | FIEEX
LN—ErTvy— B:EILI-LK SzAve ]
3 4| AREVLTU - 6 g%ﬂé 1:14.8 5-3 7.4 — | 4 | 465 ﬁi?if%@;
. N (2 1/72) (-2)
LZRTY 4 RF— BT TFIFaTU— ITELTEIAS b
oo e . ERRE : - — 1EREtE=] (KR)
sl psns s 5% e o I R I I gl e
LNnN—E>Trv— BEXR)—FIXZ2AIL BpEEUE e
s 44 | WIABEE 1:15.3 7-7 37.5| — 2 457 | 1EEEBE (BERE)
5011 |F7Yox— 56.0 (2 1/2) 1) |ZHES
R:TJ7—3IUT7> BixXA4ay 7L N:EEses]
o o= ¢ EiaiEE :15. = . - FEER (KR)
6lzl 7| v 1o752< #H o9 o 1(115)5 3-4 38.6 5 (4_914) B
R:2F4I—ILK B:E-E-TLTv— IR
=LA SRR :15. ~ . - #HEE (KR)
7 o |7 270a7 G e 1(7151:;5 A ! 35) 12 KRR
vy )gdyk B:y—4—-0-2X AN
o A& 4 o6 | AKIBE 1:16.2 8-8 8.2 — 6 459 | RIIEE (KR)
g8l8|g|AF—RIN=4 56.0 4) o | @ J P NfH1
R:FTXTS5A MY — BixN—FIN— = UHiB
® I —F—@EBIERL
13—7—
23— —
BEE 5,6,7,3,4,2,1,8
43—7— (5,6) ,4,(3,7),2,1,8
[ RN
B OB 5 390H 714K 5-6 200M B = 5-6 440M &R 4-5-6 790M
8 B 5 130M 4-5 300M B E 5-6 900 JEH 5-6-4 2,840
6 1204 4-6 340M
4 170

ABRICDNT Db

TERERROODE, THBLZEL,




